https://lwww.leads4pass.com/1ly0-a21.html

L eads 4 PGSS 2024 Latest leads4pass 1Y0-A21 PDF and VCE dumps Download

1Y0-A2198AS

Basic Administration for Citrix NetScaler 9.2

Pass Citrix 1Y0-A21 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/1ly0-a21.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Citrix
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

1Y0-A21 PDF Dumps | 1Y0-A21 Study Guide | 1Y0-A21 Braindumps 1/3


https://www.leads4pass.com/1y0-a21.html
https://www.leads4pass.com/1y0-a21.html
https://www.leads4pass.com/1y0-a21.html

https://lwww.leads4pass.com/1ly0-a21.html
2024 Latest leads4pass 1Y0-A21 PDF and VCE dumps Download

QUESTION 1
An administrator plans to configure a content filtering policy to drop trace and connect methods.

Which expression should an administrator use in the content filtering policy to explicitly drop trace and connect
methods?

A. REQ.HTTP.METHOD != TRACE || REQ.HTTP.METHOD != CONNECT

B. REQ.HTTP.METHOD == TRACE || REQ.HTTP.METHOD == CONNECT

C. REQ.HTTP.METHOD != TRACE andand REQ.HTTP.METHOD != CONNECT
D. REQ.HTTP.METHOD == TRACE andand REQ.HTTP.METHOD == CONNECT

Correct Answer: B

QUESTION 2

Scenario: A financial company needs to maintain end-to-end security in network traffic. The company also requires that
an administrator reduce the CPU levels for back-end servers in their environment because it requires end-to-end
security.

Which setting on the SSL virtual server reduces CPU utilization on the back-end?

A. SSLv3

B. SSL Redirect

C. SSL Session Reuse

D. SSL Client Certificates

Correct Answer: C

QUESTION 3

An administrator has configured several virtual servers in a network environment and needs to determine
their bandwidth utilization.

Which information from the Dashboard can the administrator leverage to determine the bandwidth
utilization for the virtual servers?

A. Requests vs. responses

B. Request bytes vs. response bytes

C. Current client connections vs. current server connections
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D. Current server connections vs. current client Est connections

Correct Answer: B

QUESTION 4

The expression can be used for and . (Choose the two options that correctly complete the
sentence.)

A. caching

B. compression

C. load balancing
D. surge protection

Correct Answer: AB

QUESTION 5

An administrator has executed the following commands: enable ns feature Ib add service s1 1.1.1.1 HTTP 80 add
service s2 1.1.1.2 HTTP 80 add |b vserver vs1 HTTP 1.1.1.3 80 However, the administrator notices that the virtual
server state is DOWN. Which action must the administrator take to set the virtual server state to UP?

A. Set Ib vserver vs1 -state UP.

B. Bind a monitor to the services.

C. Set Ib vserver vs1 -accessDown yes.

D. Bind the two services to the Ib vserver vsl.

Correct Answer: D
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